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Time 4llowed: 15 Minutes SECTION - A - Marks : 12
1 Achemlcal bond which is formed | T ' Coordin ate : _
- due to the complete transfer of Covalent bond {onic bond bond Metallic bond
electrons(s) is called......... - o - O :
,4;’r,%¢,,>,J F oo ,0:;:»-;61,{ ek T Y 14 210l
2 The spontaneous mixing of . S e "
particles is called.......... _Evaporation Sublimation Diffusion | O Boiling
_____ u}f:”_r/c'.’i_u?‘u’.J&bS /:""'k T ‘ T T
3 Walerdrdpletin airis an example of..... Gas in gas Gas in liquid Liquid in liquid . Liquid in gas
fudedU’ e B L vAoud Al bt T b
4 T Negative e
Acatlon 1Suuerrrerens O charge Positive charge - Neutrgl | Coloured
______ e brefbd el B da vy
5 Which of the given is metalloid? _
5 O (OBe @s Oc¢
‘.‘é"._u;zlﬂ)u}([f:/lfiz_‘.) ’ . ' ’
6  The oxide of calcium i....... ~ Acidic Basic - O Amphoteric O Neutral N
-__-gbﬁ,?mgf.%r A g T B : (_;:JJ"' 7
7 Who s know as the father of e ! o : Jabber-1bn-
Chemistry? O Al-Razi ibn-e-Sina - Al-Beruni . Hayane
 Sebblge (bl U i e dust Ol
8 The chemical formula of Baking ' :
S0 e | OnNaHcos  ONacos  (Ocacos. (O Nad
?%mb‘)lﬁd.‘b{.’,{ﬁﬂ&é_b{ '
Which of the given is formula unit? - o
S @ Nl (O H0 () Hel () N2SO4
QL&)’UJ"JGUIC."_UI'ZZ-J )
10 The maximum number of electrons in a S ' B
' parlicular arbit is given by the formula. ,
2n 2n? 02+ 2 2+2n
J_JJU-‘INLIQJ)LJJUf'/a'ubJ'JJ' O . O O
"c_d[yurr)"zLJ.lé: Uy 6 '
11 Mass of an atom is mostly dug to its... ® Nucleus - Neutron Electrons Protons
-gdra_;s(f---_._.f/ubJr” I u"% ¥ oIty ul/af ulb/___
Shielding effect i is due fo....... O Neutrons Protons , Ele_ctro_ns ' O Eé?}t?ggsand
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or English Medium Students CHEMISTRY
s © g™ (Fresh/Reappear)
Note: Time allowed for Sechon B and Sectlon G is 2 Hours and 45 minutes. : o
“  Section~-B . ~ Marks: 32

Q-Il * Answer any EIGHT parts. Each- part carries FOUR marks. -

1. - Differentiate. between molecular mass and formula mass with examples
2. Write four defects in. Rutherford’s atofnic model.
.3, Draw the structure of Hydrogen Isotopss.
4, Wheat is electronic configuration? Give ‘electronic configuration of o )
5. Whiat do you mean by Hydrogert !\Onrﬁng? ‘Show hydrogen bondmg among' g
- -7 water molecules.
- 6. - Differentiate between effusion and dfffusion of gases with examples ‘
7.  Whatis allotropy? Give at least two reasons due to Whlch allotropy occurs.
8. Why we stir paints thoroughly before using 2
9."  Whatis molarity?
10.  Whatis electroplating? Give three purposes of electroplatlng
11." Give uses of calcium. .
. Séctlon c - : Marks: 21
Note : Attempt any THREE questions. All questions carry equal marks. - o
Q-il (@) Whatis Chemistry? Discuss any three branches of Chemistry. (4)
“(b) If 3dm® of airis heated from 300 K to 400 K at constant preSSure then what is the (3)
) yolume of the air at-higher temperature? ’.4};
Q¥ (a) State the postulates which Bohr suggested to- oVercome the shortcommgs of the 4)
Rutherford atomic model. . '
{b) What do you mean by atomic radius? Give trends of atomic radius in penodlc table. (3)
QY (@) What is covalent bond? Explain its diffarent: types with examples. (4)
(b) Differentiate between unsaturated, saturated and supersaturated solutlons (3)
Q-Vi (a) Explain oxidation and reduction reactions with examples 4)
' (b) Give reaction of Mg {magnestum) with L Oy _ ii. Clp iil. HCl ' (3)
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